Qo
hansa24g

4]

Mini Garden Office Il 320x320 44 G0311
Drawing/Zeichnung 3 D FFFFFF
Profile/Profil 44)(135 Scale/MaRstab 10072023




3500

10W5b

Lb

11594&

2912

3200

100

3000

2912

3500

| 15044 2912 100150
100 3200 4t
) 3000 )
! ]

250
10
0150
4%

Wia

8.48 m2

,,,,,,,,,,

D204-RT
\ 146.5x197.5

r~—
|
|
|
|
|
|
|
|
|

[aa] ~
= 3
=
e
30
3
>
o
O

WS
1

69
S VAN
250,

"ol

250,
150Mt|96 0 325 1485 196 100 150
L ’ ’ LT
0o Neme Mini Garden Office Il 320x320 44 U G0311
(
l.] a n Sa 24 :j Drawing/Zeichnung Plan_Grundplan Format A4
: Profile/Profil 44)(135 Scale/MalRstab 150 Date 10072023




45

Y

2980

2980

AT2 54
AT1 o 2
AT1 o 54
E o 28
AT1 2
AT1 o 54
L AT2 AT3 E o
N 1195 1485 o
70 160 20
0o Heme Mini Garden Office Il 320x320 44 U G0311
hansa 248 brawiglzechnune Egyndation plan_Lagerholzplan Format A4
v Profile/Profil 44)(135 Scale/MalRstab 150 Date 10072023




Pos Model Pee Profile |Lengfh
Mini Garden Office Il 320x320 44 (mm) (mm)
Notice! The gable pieces can be parfly pre-assembled!
Please natice - thase differ from the descripfion given in the specificafion list.
Achtung! Die GieBelbohlen konnen feilweise schon varmontiert sein!
Biffe beachfen - diese erscheinen nichf ganz so wie in der Teileliste beschrieben.
004 WDO:% 2912 100 spare log/Ersatzteile 1 L4 x135 3200
001 =5 - 2 | 4hx135 | 3500
02 | § - . 1| Lhx124 | 3500
003 | 1 Oy & T 1| 4Lx135 | 3500
004 bt 2 i 17 | L4x135 | 3200
005 T . il 1| LLx135 | 3200
006 & 2 il 20| L4x135 | 3200
007 ot — i 1| L4x135 | 3200
008 [ o 2 2 | Lixes | 3200
1852 100
009 ‘ H ] 11| L4x135 1996
010 2t o 2 | Lux68 | 1603
011 o— 2 1| 44x135 | 1375
012 T — 3| 44x135 | 1375
013 o 1| LLx135 | 494
01 il 26| 4LLx135 | 340
015 T 9 | 4b4x135 325
016 1] i LLx135 375
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT2 ? TOxL5 2980
FOUNBATION BEAMS [impregnated) - FUNDAMENTHOLZER (impragniert)
ATI 6 TOXLS 2840
FOUNBATION BEAMS (impregnated) - FUNDAMENTHOLZER (impragniert)
AT3 1 TOxL5 1485
PURLINS - PFETTE
PR . S u@j 3| 70x145 | 3500
ROOF BOARDS - DACHBRETTER 77777778 311 113x18 | 3403
FLOOR BOARDS - FUSSBODENBRETTER o/ /5 |26+1 113x18 2907
Kood  Mini Garden Office Il 320x320 L4 Mater jal ‘ File ‘ Leht  1/5



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Mini Garden Office II 320x320 44

AutoCAD SHX Text
1/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Mini Garden Office II 320x320 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3500

AutoCAD SHX Text
250

AutoCAD SHX Text
2912

AutoCAD SHX Text
250

AutoCAD SHX Text
002

AutoCAD SHX Text
1

AutoCAD SHX Text
44x124

AutoCAD SHX Text
3500

AutoCAD SHX Text
250

AutoCAD SHX Text
2912

AutoCAD SHX Text
250

AutoCAD SHX Text
003

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3500

AutoCAD SHX Text
250

AutoCAD SHX Text
2912

AutoCAD SHX Text
250

AutoCAD SHX Text
004

AutoCAD SHX Text
17

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
005

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
006

AutoCAD SHX Text
20

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
007

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
008

AutoCAD SHX Text
2

AutoCAD SHX Text
44x68

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
009

AutoCAD SHX Text
11

AutoCAD SHX Text
44x135

AutoCAD SHX Text
1996

AutoCAD SHX Text
1852

AutoCAD SHX Text
100

AutoCAD SHX Text
010

AutoCAD SHX Text
2

AutoCAD SHX Text
44x68

AutoCAD SHX Text
1603

AutoCAD SHX Text
250

AutoCAD SHX Text
1309

AutoCAD SHX Text
011

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
1375

AutoCAD SHX Text
100

AutoCAD SHX Text
1231

AutoCAD SHX Text
012

AutoCAD SHX Text
3

AutoCAD SHX Text
44x135

AutoCAD SHX Text
1375

AutoCAD SHX Text
100

AutoCAD SHX Text
1231

AutoCAD SHX Text
013

AutoCAD SHX Text
11

AutoCAD SHX Text
44x135

AutoCAD SHX Text
494

AutoCAD SHX Text
100

AutoCAD SHX Text
350

AutoCAD SHX Text
014

AutoCAD SHX Text
26

AutoCAD SHX Text
44x135

AutoCAD SHX Text
340

AutoCAD SHX Text
196

AutoCAD SHX Text
100

AutoCAD SHX Text
015

AutoCAD SHX Text
9

AutoCAD SHX Text
44x135

AutoCAD SHX Text
325

AutoCAD SHX Text
016

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
325

AutoCAD SHX Text
AT2

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
2980

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT1

AutoCAD SHX Text
6

AutoCAD SHX Text
70x45

AutoCAD SHX Text
2840

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT3

AutoCAD SHX Text
1

AutoCAD SHX Text
70x45

AutoCAD SHX Text
1485

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
PR1

AutoCAD SHX Text
3

AutoCAD SHX Text
70x145

AutoCAD SHX Text
3500

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
250

AutoCAD SHX Text
2912

AutoCAD SHX Text
250

AutoCAD SHX Text
ROOF BOARDS - DACHBRETTER

AutoCAD SHX Text
31+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
3403

AutoCAD SHX Text
FLOOR BOARDS - FUSSBODENBRETTER

AutoCAD SHX Text
26+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
2907

AutoCAD SHX Text
004

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
spare log/Ersatzteile

AutoCAD SHX Text
Notice! The gable pieces can be partly pre-assembled!  Please notice - those differ from the description given in the specification list.

AutoCAD SHX Text
Achtung! Die Giebelbohlen können teilweise schon vormontiert sein! Bitte beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.


Pos Model Pee Profile |Lengfh
Mini Garden Office I 320x320 L& (mm) (mm)
31
Ceiling mouldings - Deckenleisten (inside and outside - innen und aufien) 15x28 m/Lfm
13
Floor mouldings - Fussbodenleisten V) 18%L0 e
RLIOT-1| Eave slat - Traufenleiste 18x40 7 Bxio | TE
KAR1-1| Parapef - Blende 336 EIE 2 | 18x336 | 3503
AR | Parapet - Blende 336 ﬁE 2 | 18x336 | 3536
Kfj Parapef cover - U-Prafil fur Blenden % LLx65 riﬂlﬂm
KAR | Parapet support - Blendestitze 44x65 m Lo|ohux6S | 250
UV Mefal bar - Metallstange @10 Q ) 1 710 1040
Uv2 | Metal bar - Metallstange 210 Q ) | 210 900
LK Hit block - Schlagholzer @ 3
2N57003 Nails - Nagel 2.5x60 for floor boards - fur Fussbodenbretter <—————— [312
N-0 | Nails - Nagel vierkant 2.5x50 for ceiling boards - fur
2501 | Dachbretter = |30
é%é? Screws - Schrauben 3.0x30  for ceiling mouldings - fur Deckenleisten — wmwmw] | 56
ggég Screws - Schrauben 3.0x30 for eave slats - fur Traufenleisten v | 16
KR-0 | Screws - Schrauben 3.0x30 for floor mouldings - fur {
3003 | Fussbodenleisten 2
K859 | Screws - Schrauben 35x45 €3 for U-profile - fir U-Profil = | 37
KR-0 | Screws - Schrauben 5.0x100 faor foundation beams - « <H 36
5080 | fur Fundamentholzer
KR-0 | Screws - Schrauben 5.0x100 for parapef supporfs - <H 8
5081 | fur Blendestufzen
KR-0 | Screws - Schrauben 5.0x70 C3 for parapef fasfening - fur <” 36
5031 | Blendenbefestigung
KL1 | Threaded rod - Gewindestange M3 CODDDDDDDDDD DY) | L 2000
KL2 | Threaded rod - Gewindestange M8 MMM | 2 450
KL3 | Threaded rod - Gewindestange M3 QDD | 2 325
N
Nuf - Mutter M8 @,l L
Washer - Scheibe M8x24 L
Extended nut - Langmufter M8 L
Kood  Mini Garden Office Il 320x320 L4 Mater jal ‘ File ‘ Leht  2/5



AutoCAD SHX Text
Ceiling mouldings - Deckenleisten (inside and outside - innen und außen)

AutoCAD SHX Text
15x28

AutoCAD SHX Text
31

AutoCAD SHX Text
Floor mouldings - Fussbodenleisten

AutoCAD SHX Text
18x40

AutoCAD SHX Text
13

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Mini Garden Office II 320x320 44

AutoCAD SHX Text
2/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Mini Garden Office II 320x320 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Eave slat - Traufenleiste 18x40

AutoCAD SHX Text
18x40

AutoCAD SHX Text
7.4

AutoCAD SHX Text
RLI01-1

AutoCAD SHX Text
Parapet - Blende 336

AutoCAD SHX Text
2

AutoCAD SHX Text
18x336

AutoCAD SHX Text
3503

AutoCAD SHX Text
KAR1-1

AutoCAD SHX Text
Parapet - Blende 336

AutoCAD SHX Text
2

AutoCAD SHX Text
18x336

AutoCAD SHX Text
3536

AutoCAD SHX Text
KAR

AutoCAD SHX Text
1-2

AutoCAD SHX Text
Parapet cover - U-Profil für Blenden

AutoCAD SHX Text
44x65

AutoCAD SHX Text
17.47

AutoCAD SHX Text
KAR

AutoCAD SHX Text
2-1

AutoCAD SHX Text
Parapet support - Blendestütze 44x65

AutoCAD SHX Text
4

AutoCAD SHX Text
44x65

AutoCAD SHX Text
250

AutoCAD SHX Text
KAR

AutoCAD SHX Text
3-1

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
1

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
1040

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
Metal bar - Metallstange Ø10

AutoCAD SHX Text
1

AutoCAD SHX Text
Ø10

AutoCAD SHX Text
900

AutoCAD SHX Text
ÜV2

AutoCAD SHX Text
LK

AutoCAD SHX Text
Hit block - Schlaghölzer

AutoCAD SHX Text
3

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2503

AutoCAD SHX Text
Nails - Nägel 2.5x60   for floor boards - für Fussbodenbretter

AutoCAD SHX Text
312

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2501

AutoCAD SHX Text
Nails - Nägel vierkant 2.5x50   for ceiling boards - für

AutoCAD SHX Text
Dachbretter

AutoCAD SHX Text
310

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3001

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for ceiling mouldings - für Deckenleisten

AutoCAD SHX Text
56

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3002

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for eave slats - für Traufenleisten

AutoCAD SHX Text
16

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3003

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for floor mouldings - für

AutoCAD SHX Text
Fussbodenleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3529

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for U-profile - für U-Profil

AutoCAD SHX Text
32

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5080

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for foundation beams -

AutoCAD SHX Text
für Fundamenthölzer

AutoCAD SHX Text
36

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5081

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for parapet supports -

AutoCAD SHX Text
für Blendestützen

AutoCAD SHX Text
8

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5031

AutoCAD SHX Text
Screws - Schrauben 5.0x70 C3   for parapet fastening - für

AutoCAD SHX Text
Blendenbefestigung

AutoCAD SHX Text
36

AutoCAD SHX Text
KL1

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
2000

AutoCAD SHX Text
KL2

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
450

AutoCAD SHX Text
KL3

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
2

AutoCAD SHX Text
325

AutoCAD SHX Text
Nut - Mutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Washer - Scheibe M8x24

AutoCAD SHX Text
4

AutoCAD SHX Text
Extended nut - Langmutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm


Pos Model Pee Profile |Lengfh
Mini Garden Office Il 320x320 44 (mm) (mm)
Drive-in nut - Einschlagmutfer M8 @fv L
Kood  Mini Garden Office Il 320x320 L4 Mater jal File Leht  3/5



AutoCAD SHX Text
Drive-in nut - Einschlagmutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Mini Garden Office II 320x320 44

AutoCAD SHX Text
3/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Mini Garden Office II 320x320 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)


Model

Pas Pcs Profile |Lengfh
Mini Garden Office I 320x320 L& (mm) (mm)
WINDOW 690x1470 ?
WS5-SLLP-0XT-06901470
690
W119-PT
N
A Right handed - DIN rechts
//\ Tempered glass - Gehartetes Glas
o 7 Opens inside - Offnet innen
2N
AN
\
N
/ N
KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur
3524 | Tur- und Fensterleisten 1|48
Kood  Mini Garden Office Il 320x320 L4 Mater jal File Leht  L4/5



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Mini Garden Office II 320x320 44

AutoCAD SHX Text
4/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Mini Garden Office II 320x320 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
WINDOW 690x1470

AutoCAD SHX Text
 W5-S44P-0XT-06901470

AutoCAD SHX Text
2

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
48


Pos Model Pee Profile |Lengfh
Mini Garden Office Il 320x320 44 (mm) (mm)
DOOR 1465x1975 1
D5-D4LR-TXT-14651975
1465
1 D204-RT
Right handed - DIN rechts
Tempered glass - Gehartetes Glas
Opens outside - Offnet aussen
A e
| LT \
KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur 28
3524 | Tur- und Fensterleisten {
Kood  Mini Garden Office Il 320x320 L4 Mater jal File Leht 5/5



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Mini Garden Office II 320x320 44

AutoCAD SHX Text
5/5

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Mini Garden Office II 320x320 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 1465x1975

AutoCAD SHX Text
 D5-D44R-7XT-14651975

AutoCAD SHX Text
1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
28


Eve slat
Traufenleiste

U-Profile
U-Profil

Blendestitze
Verbindungsleiste

Blende
Parapet

f[onne(hng slate
Verbindungsleiste

Wall Logs
Wandbohlen

loor Mouldings
FussBodenleiste

-n

Floor Boards
Fussbodenbreffer
Foundation Beams
Fundamentholzer

3500

3403206

010

]

001

=

2,4°

Wall/Wand A T

H | 006

H | 006

H | 006

m| 006

m| 006

H | 006

H | 006

2430

H | 006

H | 006

H | 006

H | 006

H | 006

m| 006

m| 006

H | 006

1008 |

2912

AT

2956

L4 100

3200

hansa2

Name Mini Garden Office Il 320x320 44

SKU Go

311

Q

DO

%o

Drawing/Zeichnung

Wall/Wand A

Format

A4

Profile/Profil

4.4x13.5 | scoe/vebsen 1:50

Date

10.07.2023



AutoCAD SHX Text
Wall/Wand  A

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
001

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
008

AutoCAD SHX Text
010

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
AT2

AutoCAD SHX Text
AT2


3500

3403206
— 010 ﬁ —
L H ad ] =T —— 001
LM T H | 006
H H | 007
L1 013 H | 009
L1 013 H | 009
L1 013 H | 009
L1 013 H | 009
H 0132 H | 009 -
| H 0133 H | 009 3
H 013 H] 009 ~
LM 013 H | 009
LM 013 H | 009
LM 013 H | 009
H 013 |=L, Hl 009
LM H | 006
H H | 006
2 <4 065
Wall/Wand B T o = I
[| 350 | 710 | 1852 Il
00 bt 44 100
| 2956 |
@) ©
3200
0o Neme Mini Garden Office Il 320x320 44 U G0311
h a n S a 24 8 Drawing/Zeichnung Wa”/Wand B Format A4
A Profile/Profil 4 4X13 5 Scale/MalRstab 150 Date 10 07 2023



AutoCAD SHX Text
Wall/Wand  B

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
001

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
006

AutoCAD SHX Text
007

AutoCAD SHX Text
008

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
010

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
013

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
AT2

AutoCAD SHX Text
AT2


3500

KL1+KL3 1250 L2500 KL1+KL3

003
004
004
004
004
004
004
004
004
004
004
004
004
004
004
004

Wall/Wand 1 T 004 |

2295

il 2912 1

| 2956 |

3200

0o Heme Mini Garden Office Il 320x320 44 KU 50311
}'] a n S a 24 :j Drawing/Zeichnung VVa”/Waﬂd 1 Format A4

A Profile/Profil 44)(13 . 5 Scale/MaRstab 1 : 50 Date 1007 2023



AutoCAD SHX Text
Wall/Wand  1

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
003

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
KL1+KL3

AutoCAD SHX Text
KL1+KL3


3500

KL1+KL2 KL1+KL2
250 250
L 17 Hl 1002
[H H1T 004
H Hll 005
[H To 015 [ HIl o
TH 101 015 T HI] o1
H ] 0w =) 015 HI 01%
L | 014 015 HI] 014
TH 101 016 T HI] o1
TH ] 01L& 016 I HI o1 2
L | 014 015 - L AL 014 &
TH 01 ] o015 S T HI] o1
TH ] o EBIE ~ HI] 014
TH 101 015 HI] o1
TH 101 015 _HI o1
H 011 T HI] o1
LLh 012 L AL 014
e 1012 [ HI 0
H 012 ml) 014
Wall/Wand 2 T —
|[196] 710 | 325 | 1485 1196]]
100 L4 L4 100
| 2956 |
® ®
3200
0o Nome Mini Garden Office Il 320x320 44 U G0311
I1 a n S a 24 ? Drawing/Zeichnung Wa”/Wahd 2 Format A4
Profile/Profil 44)(135 Scale/MalRstab 150 Date 10072023



AutoCAD SHX Text
Wall/Wand  2

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
002

AutoCAD SHX Text
004

AutoCAD SHX Text
005

AutoCAD SHX Text
011

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
014

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
015

AutoCAD SHX Text
016

AutoCAD SHX Text
016

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
ÜV1

AutoCAD SHX Text
ÜV2


